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Øvelse (Facitliste kan ses ved at scolle til højre. Hvis øvelsen er printet, bør papiret foldes, så facitlisten skjules)
	Opgave:
	
	Dit svar:
	Facitliste:

	7 · (10 + 2)
	=
	
	84

	7 · (10 + a)
	=
	
	70 + 7a

	7 · (a + b)
	=
	
	7a + 7b

	k · (a + b)
	=
	
	ka + kb

	a · (a + b)
	=
	
	a² + ab

	(10 + a) · 7
	=
	
	70 + 7a

	(a + b) · (10 + a)
	=
	
	10a+a²+10b+ab

	(a + b) · (c + d)
	=
	
	ac+ad+bc+bd

	(7a + b) · (2b + 3a)
	=
	
	14ab + 21a² + 2b² + 3ab

 = 21a² + 2b² +17ab

	(a + b) · (a – b)
	=
	
	a²-b²

	(a + b)²
	=
	
	a²+b²+2ab


